SN ERNRIEE BAAYS
Ha: AT RIS MR (MY - FAILLHUI/RALEXN R
SRl SRIXTE HEAYR B =EE
M2 -4A(3A) - HREAY - BES Off &F 4 INEH HuszZ
EANRIN=F MR 118,745 125,745 A7,000
2 40,000 40,000 0
= 78,745 85,745 A7,000
HEALT RAS BUET (MY - SAINLLUUI/S 83,510 90,510 A7,000
HUYE TR
2 40,000 40,000 0
= 43,510 50,510 A7,000
SRAXTE HEAYR = 83,510 90,510 A7,000
2 40,000 40,000 0
= 43,510 50,510 A7,000
SHRA B85 =4 43,510 50,510 A7,000
301 YpR A 3.500 10,500 A7,000
06 ©12+ol = 9l f bl 0 7,000 A7,000
OSXRA &5 W2t X 0 7,000 A7,000
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